FHX 2019~2020 NERFFEZARAEER 20201

—. B8 (EEHk16 5, BME2 )
e 1 2 3 4 5 6 7

oo

ER D C A D B C C A

—. HEFE (K@t 164, B/AE2 )

9. -1 ; 10. 30 ; M 6 s 12. _ 4/10 ;
. 1

13.  40° B¢ 140° ; 14. 542 ; 15._—; : 16.. y=-2x-1

=, fRERE (AE3E 68 o #1721 B/AME 5 4y 5 22-2T /NI 64y 28T 4

17. 90°_LEIE] JE FEFIRTIRI 2 S BIAG s woeeveereereereseeseesensennennennes) 43

EIPRFTAI T PR AHZES ;. ceeeeereemmn 4 4y
LD e 5%y
18. BE=BD = eetececissiciniiniens 157 C
" AD *VJr ZBAC
5 L CAD=/DAB = = ceeereerescnncniniins 24y D
“AB : AC=AE : AD
S NAEABAADAC 0 eeeeessssiniiniiniin 34y 4 B
s LAEB=/ADC
5. S BED=/BDE = cecectereeincaceiiid 4 4y
S BE=BD = eereeesisiiciniinies 547,

19. ©* /C=90", AC=2+/3, BC=6

o AB= 23D + 622443 . Ol 2 4% 4
AC 243 3
tanB:—zizi ..................... 3 4
BC 6 3
C
©ZB=30° e 4%
O ZA=60° e 54

o LA=60° ; /B=30° ; AB=4+/3



20. (1) WEERNy=alx-17+4 (@a#0)-eeemr 145 (

h

o}
=
=
=
=l

ECLOMRAFa=-1 e 2 4% LE
LRIBERNy=-(x-1)’ +48y=-x" +2x+3 ) ™
=5
............ 34y / ‘ \
FAS
() WMEFRE e 4 4y ! ;/k b \\
-, 7.1 \ 4 ) ;\ ” B
\ 2 W .l
(3) -5<y<4 b 5 4% f.f . \

21, " LAEB=90%,-ZBAE=45" , AB=3\2

2
o AE=BE=32 +sin45° =32 -\/2_=3 ------------ 2 4%
"+ /BCE=60°
BE 3
LD CE=——=—7=43 e 4 4y
¢ tan60° /3 3 7
. AC=AE-CE=3-43 ... 5 4%
B ] 22 M BB IE SR 55 1 (3-/3) K.
22. (1) ?EA (1, a) ’Tﬁ)\y:x—{—z?%l:a:?, ............ lﬁj\
k
LA QA Y ="fk=3 e 24
3
Qr (D Y m=28, C (2, 4, D (2, 5) ------------ 34y
35
: =4 _-—=—  eeeesscseses AN
. CD=4 R 4 73
@ m<-3sm>1 e 6 4%



23. (D K@ SAMEEE, & 23-1 e 35

:
1 ’
I I/f
A | -
s\
,
i |

& 232, Bk FC 5B W — AR e 4%y
EH ﬁ% oC e 5 4%
R A0 SR AM T AC KRR
s L1=22
- OC =0A
s L1=/3
s L3=/2
.. OC//AE
" CFLAM T F
CFLOC ............ 65
B wEIO0, OC 7‘3%&

\\\\\

24. (D W 24-1 QOHUAF BBE, HHE CF woveveveeees 14
. L/BCF=90% """ &) 7 cevnenenns 92 4%
v LFE=/BAC=H03 T e 343
BC 6
- 4BF = -
sinZF 43 w3
2
OO MIEBZE N2 e 44y

(FEUESH L)




2 K 242 I OF OGLAD F G,
OH 1 BC T H  eeeeeereens 547
.. GE=GA, Wik¥ OHDG =ZHij¥
- OH=DG

‘* OB=2+/3, /FBC=30°
L OH=A3 - DG=A3 242

.. AG=AD-GD=5-3 .. EG=5-+3

5. DE=EG-GD=5-~3 -[3 =5-2/3 -+ sfbe. . 6 4%
! /
25. , s
5 (1> __ DG AE DF A _//\
(1]
............ 3§j\ / N
4 NG / /
N
(20 mE Y e 5§J\ 3
2_
(3) 7.07 8% 5.00 8] 5.65 «+eveeveeee 6 4% 1 | -
0 2 3 4 3 T 8
-2
26, (1) %M%é)%Xﬂ‘%Riﬂﬂi’ﬂEé%x:-z—m:l. ------------ 1y
m
AL BRTHEHZL x=14, 4B=2
SIS x AT (0, 0D (2, Q) eeeeeeenens ey
# (0, 00 RN y=mx’-2mx-2m+141,
1
15-2m+1=0 EDmZE. ............ 3 4y
(2) YL y = mx? - 2mt-2m )5 X A PN A ohig
SA>0 BE(2m) 24m(2m+1D >0 eeeeeeeeens 44y 4
il
1 |, L
1S m>—tm <0 P M\x- /
3 '4_3_'2_'1xg0 73+ 5 6
OQ#m>0, FHm L, wE 261 g
‘4_
1
Y MN > 2 i, ﬁ—2m+l§2ﬁ§/§°m2-5 & 26-1
1
%/a\xﬂ?%nwg ............ 5 %)




@#m<0, FOET, WK 26-2

M MN =20, H-2m+1>2 W .
y 1 I \
ﬁﬁ%mf-_ o R P 2Nt 5 6,
2 i
1 72..
é%é\Xﬂ/%mS_E ............ 6 ﬁj\ ¢
>, <H=- Y 1 . 1
27. (1) WK 27-1, #NEEE 7 opeeeeeenns 1 4y
EM: v £ACB= Y/ MCN=90°
Y AMEB= ANCA  covvevveenes 9 4%
N CM:CN; CB:CA
S AMCB2 ANCA
SBM=AN eeeeeceeenn 3 ﬁj\
& 27-1
(2) _45° BR135° e 45
(3) 1 1 S PP P TP PP 6 ﬁj\
28. (1) @ C, E :  ceeeeeeenen 9 4.

QB EL y = x+1 KWL LB AB [ “PREE A 70

nkE 28-1 Fiiss
PP AELRBEMNT | GAFEI 1) oeeeeeeene 3 5%
Gk x, =-1-42 e 45y
Xy=1 e 5 4%
o RUP REARAT X, TR Y LA & 28-1
1-42<x, <1



(2)

K 28-2, t=-8
............ 6§j\
|§|28-2
Mg
|
Lk
1ip 283, t=~/3-2 AL
M
7 6 5 4 3
............ 7§j\






